A	Spreadsheet Approach
KENTSTATE	Lectures in Microeconomics-Charles W. Upton

2	<i>P</i> =	R	MR	С	MC	π
	50 - (4)0	=PQ		=		
1	(/2)Q			50		
•						
2						
3						

Q	P =	R	MR	С	МС	π
	50 -	= PQ		=		
	(½)Q			5Q		
1	\$49.50	\$49.50	\$49.50	\$5	\$5	\$44.50
2						
3						

π	MC	С	MR	R	P =	Q
		=		=PQ	50 -	
		5Q			(½)Q	
\$44.50	\$5	\$5	\$49.50	\$49.50	\$49.50	1
			\$48.50	\$98.0	\$49.00	2
						3

Q	P =	R	MR	С	МС	π
	50 –	= PQ		=		
	(½)Q			5Q		
1	\$49.50	\$49.50	\$49.50	\$5	\$5	\$44.50
2	\$49.00	\$98.0	\$48.50	\$10	\$5	\$88
3						

Q	<i>P</i> =	R	MR	С	MC	π
	50 -	= PQ		=		
	(½)Q			5Q		
1	\$49.50	\$49.50	\$49.50	\$5	\$5	\$44.50
2	\$49.00	\$98.0	\$48.50	\$10	\$5	\$88
3	\$48.5	\$145.5	\$47.50	\$15	\$5	\$130.5

	A S	pread	sneet	appr	oacn	
Q	P=	R	MR	С	MC	π
-	<i>50</i> –	=PQ		=		
	(½)Q			5Q		
1	\$49.50	\$49.50	\$49.50	\$5	\$5	\$44.50
2	\$49.00	\$98.0	\$48.50	\$10	\$5	\$88
3	\$48.5	\$145.5	\$47.50	\$15	\$5	\$130.5
10	45	\$450.0	\$40.50	\$50	5	\$400

A spreadsheet approach

Q	Р	R	MR	C	MC	π
1	\$49.50	\$49.50	\$49.50	\$5	\$5	\$44.50
2	\$49.00	\$98.0	\$48.50	\$10	\$5	\$88
3	\$48.5	\$145.5	\$47.50	\$15	\$5	\$130.5
44	\$28.00	\$1232	\$6.5	\$220	\$5	\$1012
45	\$27.50	\$1237.5	\$5.5	\$225	\$5	\$1012.5
46	\$27.00	\$1242	\$4.5	\$230	\$5	\$1012
KEN	TSTATE	AS	preadsheet A	pproach		01012

Q	Р	R	MR	С	MC	π
1	\$49.50	\$49.50	\$49.50	\$5	\$5	\$44.50
2	\$49.00	\$98.0	\$48.50	\$10	\$5	\$88
3	\$48.5	\$145.5	\$47.50	\$15	\$5	\$130.5
44	\$28.00	\$1232	\$6.5	\$220	\$5	\$1012
45	\$27.50	\$1237.5	\$5.5	\$225	\$5	\$1012.5
46	\$27.00	\$1242	\$4.5	\$230	\$5	\$1012













	rioulem m	
Quantity	Price	Cost
0		6
1	15	11
2	13	16
3	11	21
4	8	26
5	7	31
6	6	36
7	5	41

Problem II									
	110010								
			-						
	Q	?							
	Р	?							
	Revenue	?							
	Cost	?							
	Profit	?							
			-						

	Problem II							
	Q	3	1					
	Р	11	-					
	Revenue	33	_					
	Cost	21	_					
	Profit	12						
KENTSTATE	A Spreadshee	et Approach	_					

	End		
		©2003 Charles W. Upton	
KENTSTATE	A Spreadsheet Approach		